,éx é @ Kerro desimaalit kymmenelld negatiivisella
v potenssilla

Nimi: Piivimadrd: __ Pisteet: ____
5147,6 x 0.1 = 4747,7 % 0.0001 =
8901, 5 % 0.0001 = 9347,1 x 0.001 =
4800 x 0.001 = 8746,4 % 0.01 =
5780, 2 x 0.0001 = 5799,9 x 0.001 =
7720, 8 x 0.0001 = 2055,7x0.01 =
2310,7x0.001 = 6530,3 x 0.1 =
7267,9 x 0.1 = 4837,9 x 0.001 =
2439,1 x 0.1 = 7597,1 x0.01 =
4103,9 x0.01 = 5219,5%x0.1 =
8703,1x0.1 = 2539,6 x 0.1 =
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xéx é @ Kerro desimaalit kymmenelld negatiivisella
ne potenssilla

Nimi: Piivimadrd: __ Pisteet: ____
5147,6 x 0.1 =514.76 4747,7 % 0.0001 = 0.47477
8901, 5 x 0.0001 = 0.89015 9347,1 x0.001 =9.3471
4800 x 0.001 = 4.8 8746,4 < 0.01 = 87.464
5780,2 x 0.0001 = 0.57802 5799,9 x 0.001 = 5.7999
7720, 8 x 0.0001 = 0.77208 2055,7 x 0.01 = 20.557
2310,7x0.001 = 2.3107 6530, 3 x 0.1 = 653.03
7267,9 x 0.1 =726.79 4837,9 x 0.001 = 4.8379
2439,1x 0.1 =243.91 7597,1x0.01 =75.971
4103,9 x 0.01 =41.039 5219,5x0.1 =521.95
8703,1x0.1 =870.31 2539,6 x 0.1 =253.96
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